

Akbar B. ALIEV, Famil V. MAMEDOV

GLOBAL SOLVABILITY OF THE CAUCHY PROBLEM FOR THE SEMILINEAR HYPERBOLIC EQUATION WITH ANISOTROPIC ELLIPTIC PART

Abstract

In the papers [1]-[8] the existence of global solutions was investigated for the semilinear dissipative equations. In this paper we investigate global solvability of the Cauchy problem for the semilinear dissipative hyperbolic equations with anisotropic elliptic part.

We consider the Cauchy problem for the semilinear dissipative hyperbolic equation with anisotropic elliptic parts

$$u_{tt} + u_t + \sum_{k=1}^3 (-1)^{l_k} D_{x_k}^{2l_k} u = f(u), \quad t > 0, \quad x \in R_3, \quad (1)$$

$$u(0, x) = \varphi(x), \quad u_t(0, x) = \psi(x), \quad x \in R_3, \quad (2)$$

where $D_{x_k} = \frac{\partial}{\partial x_k}$, $k = 1, 2, 3$. Here $f(u)$ is continuously differentiable function and

$$|f(u)| \leq c|u|^p, \quad |f'(u)| \leq c|u|^{p-1}, \quad u \in R, \quad (3)$$

where $c > 0$,

$$p > 1 + \frac{2l_1 l_2 l_3}{l_1 l_2 + l_1 l_3 + l_2 l_3}, \quad \text{for } l_1 l_2 + l_1 l_3 + l_2 l_3 \leq 2l_1 l_2 l_3, \quad (4)$$

$$2 < p < \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{l_1 l_2 + l_1 l_3 + l_2 l_3 - 2l_1 l_2 l_3}, \quad \text{for } 2l_1 l_2 l_3 < l_1 l_2 + l_1 l_3 + l_2 l_3 \leq 4l_1 l_2 l_3. \quad (5)$$

Let $W_2^l(R_3)$ is anisotropic Sobolev space with the norm

$$\|u\|_{W_2^l(R_3)} = \left(\sum_{k=1}^3 \int_{R_3} |D_{x_k}^{l_k} u|^2 dx + \int_{R_3} |u|^2 dx \right)^{\frac{1}{2}},$$

where $l = (l_1, l_2, l_3)$ (see [9]).

The main results of this paper is the following theorem

Theorem 1. *Suppose that the condition (3)-(5) are satisfied. Then there exists a real number $\delta_0 > 0$, such that, if the initial data $(\varphi, \psi) \in [W_2^l(R_3) \cap L^1(R_3)] \times [L_2(R_3) \cap L_1(R_3)]$ further satisfied $\|\varphi\|_{W_2^l(R_3)} + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_2(R_3)} + \|\psi\|_{L_1(R_3)} < \delta_0$ the problem (1), (2) admits a global solution $u(t, x) \in C([0, \infty); W_2^l(R_3)) \cap C^1([0, \infty); L_2(R_3))$ satisfying the decay property:*

$$\sum_{k=1}^3 \left\| D_{x_k}^{l_k} u(t, \cdot) \right\|_{L_2(R_3)} \leq c(1+t)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)}, \quad (6)$$

$$\|u(t, \cdot)\|_{L_2(R_3)} \leq c(1+t)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}}, \quad (7)$$

$$\|D_t u(t, \cdot)\|_{L_2(R_3)} \leq c(1+t)^{-\left(1+\frac{l_1 l_2+l_1 l_3+l_2 l_3}{4 l_1 l_2 l_3}\right)}, \quad (8)$$

with $c > 0$ some constant $t > 0$.

Remark. In case $l_1 = l_2 = l_3 = 1$, the analogous result was received in paper [4].

By substitution $\nu_1 = u_1, \nu_2 = u_t$ we can reduce problem (1), (2) to the Cauchy problem

$$w' = Aw + F(w), \quad (9)$$

$$w(0) = w_0 \quad (10)$$

in the Hilbert space $H = W_2^l(R_3) \times L_2(R_3)$, where $w = (\nu_1, \nu_2)$,

$$A = \begin{pmatrix} 0 & I \\ -\sum_{k=1}^3 (-1)^{l_k} D_{x_k}^{2l_k} & -I \end{pmatrix}, \quad D(A) = W_2^{2l}(R_3) \times W_2^l(R_3);$$

$F(w) = (0, f(\nu_1))$, I-identity operator in $L_2(R_3)$.

Lemma 1. *The operator $A - J$ generates a strongly continuous contraction semi-group in the space H , where*

$$J = \begin{pmatrix} I & 0 \\ 0 & I \end{pmatrix}.$$

Proof. From definitions of Hilbert space H and linear operator A it, follows that

$$\begin{aligned} \langle Aw, w \rangle_H &= \sum_{k=1}^3 \int_{R_3} D_{x_k}^{l_k} \nu_2 D_{x_k}^{l_k} \nu_1 dx + \int_{R_3} \nu_2 \nu_1 dx - \\ &- \int_{R_3} \sum_{k=1}^3 (-1)^{l_k} D_{x_k}^{2l_k} \nu_1 \nu_2 dx - \int_{R_3} \nu_2 \nu_2 dx \leq \int_{R_3} \nu_1^2 dx. \end{aligned} \quad (11)$$

Consider the equation

$$Aw - w = F, \quad (12)$$

where $F = (f_1, f_2) \in H$. From (12) we get

$$\nu_2 - \nu_1 = f_1, \quad (13)$$

$$-\sum_{k=1}^3 (-1)^{l_k} D_{x_k}^{l_k} \nu_1 - 2\nu_2 = f_2. \quad (14)$$

From (13), (14) follows that

$$\widehat{\nu}_1 = \frac{1}{|\xi|_l + 2} \left(\widehat{f}_2 + 2\widehat{f}_1 \right), \quad \widehat{\nu}_2 = \widehat{\nu}_1 + \widehat{f}_1,$$

where $\widehat{\nu}_2 = F[\nu_1]$, $i = 1, 2$, F is Fourier transformation, $|\xi|_l = \sum_{k=1}^N \xi_k^{2l_k}$.

Then form of the definition the norm in the functional space $W_2^l(R_3)$, follows that

$$\begin{aligned} \|\nu_1\|_{W_2^l}^2 &= \int_{R_3} (1 + |\xi|_l) |\widehat{\nu}_1(\xi)|^2 d\xi \leq \left(c \|f_2\|_{L_2(R_3)} + 2 \|f_1\|_{L_2(R_3)} \right) \leq c_1 \|F\|_H, \\ \|\nu_2\|_{L_2(R_3)} &\leq c \|F\|_H \end{aligned}$$

Thus $A-J$ is dissipative and invertable operator, i.e., $A-J$ is maximal dissipative operator. It is well known that maximal dissipative operator generates a continuous contraction semi-group (see [12]).

Using the embedding theorem for the anisotropic space and taking into account (3), (5) we obtain the following Lemma.

Lemma 2. *The nonlinear operator $F(w)$ is acting from H to H and satisfies the local Lipchitz condition in the following sense: for arbitrary $w^1, w^2 \in H$*

$$\|F(w^1) - F(w^2)\|_H \leq c(r) \cdot \|w^1 - w^2\|_H,$$

where $r = \|w^1\|_H + \|w^2\|_H$, $c(r) \in C(R_+)$.

From Lemma 1 and 2 the condition of local solvability theorem is satisfied for the Cauchy problem (9), (10). Therefore the following theorem is true.

Theorem 2. *Suppose that $f(u)$ is continuously differentiable and in case $2l_1l_2l_3 \leq l_1l_2 + l_1l_3 + l_2l_3$ the condition (3) is satisfied, where $p \in [1, \infty)$, for $2l_1l_2l_3 = l_1l_2 + l_1l_3 + l_2l_3$ and $p \in \left[1, \frac{l_1l_2 + l_1l_3 + l_2l_3}{l_1l_2 + l_1l_3 + l_2l_3 - 2l_1l_2l_3}\right]$, for $l_1l_2 + l_1l_3 + l_2l_3 > 2l_1l_2l_3$.*

Then for each $(\varphi, \psi) \in H$ there exists $T_0 = T(\varphi, \psi)$ such that the problem (1), (2) has a unique solution

$$u(\cdot) \in C\left([0, T_0]; W_2^l(R_3)\right) \cap C^1[0, T_0]; L_2(R_3)).$$

Moreover u can be unequally continued to a maximal solution which defined in interval $[0, T')$, and at least one of the following statements is valid

(i) $T' = \infty$

(ii) $\lim_{t \rightarrow T'-0} E(u, t) = +\infty$,

where $E(u, t) = \|u(t, \cdot)\|_{W_2^l(R_3)} + \|u(t, \cdot)\|_{L_2(R_3)}$.

Now let's investigate the behavior solution of corresponding linear problems.

In order to solve it, we consider the following Cauchy problem

$$u_{tt} + u_t + \sum_{k=1}^3 (-1)^{l_k} D_{x_k}^{2l_k} u = 0, \quad t > 0, \quad x \in R_3, \quad (15)$$

$$u(0, x) = \varphi(x), \quad u_t(0, x) = \psi(x), \quad x \in R_3, \quad (16)$$

For each $\varphi \in W_2^l(R_3)$, $\psi \in L_2(R_3)$ the problem (15)-(16) has a unique solution

$$u(\cdot) \in C\left([0, \infty); W_2^l(R_3)\right) \cap C^1([0, \infty); L_2(R_3)).$$

Using the Fourier transformation, Plancherel theorem and the Hausdorf-Young inequality we have the following result:

Theorem 3. *Let $\varphi \in W_2^{m_1 l}(R_3) \cap L_r(R_3)$, $\psi \in W_2^{(m_1-1)l}(R_3) \cap L_r(R_3)$, $1 \leq r \leq 2$, where $\lambda = (\lambda_1, \lambda_2, \lambda_3)$, $\lambda \in R$. Then the weak solution of the problem (15)-(16), has the decay estimates*

$$\begin{aligned} & \|D_t^i D_x^\alpha u(t, \cdot)\|_{L_2(R_3)} \leq ce^{-t} \left[\|\varphi\|_{W_2^{m_1 l}(R_3)} + \|\psi\|_{W_2^{(m_1-1)l}(R_3)} \right] + \\ & + c(1+t)^{-\left(i + \frac{\alpha_1 l_2 l_3 + l_1 \alpha_2 l_3 + l_1 l_2 \alpha_3}{2l_1 l_2 l_3} + \frac{(2-r)}{r} \frac{(l_1 l_3 + l_1 l_2 + l_2 l_3)}{l_1 l_2 l_3}\right)} \left(\|\varphi\|_{L_r(R_3)} + \|\psi\|_{L_r(R_3)} \right), \end{aligned} \quad (17)$$

where $\alpha = (\alpha_1, \alpha_2, \alpha_3)$, $\alpha_k = 1, 2, \dots$, $k = 1, 2, 3$; $i = 1, 2, \dots$, $m_1 = \frac{\alpha_1}{l_1} + \frac{\alpha_2}{l_2} + \frac{\alpha_3}{l_3} + i$, $c > 0$ doesn't depend form $t \geq 0$, φ and ψ .

Proof of theorem 1. The solutions of the probelm (1)-(2) can be represented as the following form:

$$u(t, x) = u_0(t, x) + \int_0^t u_1(t - \tau, x) * f(u(\tau, x)) d\tau. \quad (18)$$

where $*$ is convolution to x , variable $u_0(t, x)$ is solution of the problem (15)-(16) and $u_1(t, x) = F^{-1} [u_1] (t, x)$

Here F^{-1} is inverse Fourye transformation, $\hat{u}_1(t, \xi)$ is solution of the following Cauchy problem

$$\begin{aligned} \hat{u}_{1tt}(t, \xi) + \hat{u}_{1t}(t, \xi) + |\xi|_l \hat{u}_1(t, \xi) &= 0, \quad t > 0, \quad \xi \in R_3, \\ \hat{u}_1(0, \xi) &= 0, \quad \hat{u}_{1t}(0, \xi) = 1, \quad \xi \in R_3. \end{aligned}$$

Using the Theorem 3, from (18) we have

$$\begin{aligned} \|u(t, \cdot)\|_{L_2(R_3)} &\leq ce^{-t} \left[\|\varphi\|_{L_2(R_3)} + \|\psi\|_{L_2(R_3)} \right] + \\ &+ c(1+t)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \left[\|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_1(R_3)} \right] + \\ &+ c \int_0^t \left[e^{-(t-\tau)} \|f(u)\|_{L_3(R_3)} + (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} + \right. \\ &\left. + (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \|f(u)\|_{L_1(R_3)} \right] d\tau \leq c(1+t)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \times \\ &\times \left[\|\varphi\|_{L_2(R_3)} + \|\psi\|_{L_2(R_3)} + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_1(R_3)} \right] + \\ &+ c \int_0^t (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \left[\|u\|_{L_{2p}(R_3)}^p + \|u\|_{L_p(R_3)}^p \right] d\tau. \quad (19) \end{aligned}$$

On the other hand as well from theorem 3 it follows that

$$\begin{aligned} \sum_{k=1}^3 \left\| D_{x_k}^{l_k} u(t, \cdot) \right\|_{L_2(R_3)} &\leq c(1+t)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \times \\ &\times \left[\|\varphi\|_{W_2^l(R_3)} + \|\psi\|_{L_2(R_3)} + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_1(R_3)} \right] + \\ &+ c \int_0^t (1+t-\tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \left(\|u\|_{L_{2p}(R_3)}^p + \|u\|_{L_p(R_3)}^p \right) d\tau \quad (20) \end{aligned}$$

Further we will use the following multiplicative inequality of Galiardo-Nirenberg type (see [9])

$$\|u\|_{L_q(R_3)} \leq \|u\|_{L_2(R_3)}^{\gamma_0} \cdot \prod_{j=1}^3 \left\| D_{x_j}^{l_j} u \right\|_{L_2(R_3)}^{\gamma_j}, \quad (21)$$

where

$$\gamma_j = l_j^{-1} \left(\frac{1}{2} - \frac{1}{q} \right), \quad j = 1, 2, 3 \quad \gamma_0 = 1 - \left(\frac{1}{2} - \frac{1}{q} \right) \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{l_1 l_2 l_3}, \quad (22)$$

Taking into account (21), (22) for (19), (20) we have the following inequality

$$\begin{aligned} \|u(t, \cdot)\|_{L_2(R_3)} &\leq c(1+t)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \left[\|\varphi\|_{L_2(R_3)} + \|\psi\|_{L_2(R_3)} \right. \\ &\quad \left. + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_1(R_3)} \right] + c \int_0^t (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \times \\ &\quad \times \left(\|u\|_{L_2(R_3)}^{p\gamma_0} \cdot \prod_{j=1}^3 \|D_{x_j}^{l_j} u\|_{L_2(R_3)}^{p\gamma_j} + \|u\|_{L_2(R_3)}^{p\gamma_0^1} \cdot \prod_{j=1}^3 \|D_{x_j}^{l_j} u\|_{L_2(R_3)}^{p\gamma_j^1} \right) d\tau, \\ \sum_{k=1}^3 \|D_{x_k}^{l_k} u(t, x)\|_{L_2(R_3)} &\leq c(1+t)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \left[\|\varphi\|_{W_2^l(R_3)} + \|\psi\|_{L_2(R_3)} + \right. \\ &\quad \left. + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_1(R_3)} \right] + c \int_0^t (1+t-\tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \times \\ &\quad \times \left(\|u\|_{L_2(R_3)}^{p\gamma_0} \cdot \prod_{j=1}^3 \|D_{x_j}^{l_j} u\|_{L_2(R_3)}^{p\gamma_j} + \|u\|_{L_2(R_3)}^{p\gamma_0^1} \cdot \prod_{j=1}^3 \|D_{x_j}^{l_j} u\|_{L_2(R_3)}^{p\gamma_j^1} \right) d\tau, \end{aligned}$$

where $\gamma_0 = 1 - \left(\frac{1}{2} - \frac{1}{p}\right) \cdot \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}$, $\gamma_j = l_j^{-1} \left(\frac{1}{2} - \frac{1}{p}\right)$, $j = 1, 2, 3$,

$\gamma_0^1 = 1 - \frac{1}{2} \left(1 - \frac{1}{p}\right)$, $\gamma_j^1 = 2l_j^{-1} \left(1 - \frac{1}{p}\right)$, $j = 1, 2, 3$,

From here by denoting

$$y_0(t) = \|u(t, \cdot)\|_{L_2(R_3)} \cdot (1+t)^{\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}}, \quad (23)$$

$$y_k(t) = \left\| D_{x_k}^{l_k} u(t, \cdot) \right\|_{L_2(R_3)} \cdot (1+t)^{\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \quad (24)$$

we have

$$\begin{aligned} y_0(t) &\leq cE_0 + c(1+t)^{\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \cdot \int_0^t (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \times \\ &\quad \times (1+\tau)^{-p \left[\frac{\gamma_0(l_1 l_2 + l_1 l_3 + l_2 l_3)}{4 l_1 l_2 l_3} + \left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right) \sum_{k=1}^3 \gamma_j \right]} \cdot \prod_{j=0}^3 y_j^{p\gamma_j}(\tau) d\tau, \end{aligned} \quad (25)$$

$$\begin{aligned} \sum_{k=1}^3 y_k(t) &\leq cE_0 + c(1+t)^{\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \cdot \int_0^t (1+t-\tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \times \\ &\quad \times (1+\tau)^{-p \left[\frac{\gamma_0(l_1 l_2 + l_1 l_3 + l_2 l_3)}{4 l_1 l_2 l_3} + \left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right) \sum_{k=1}^3 \gamma_j \right]} \cdot \prod_{j=0}^3 y_j^{p\gamma_j}(\tau) d\tau, \end{aligned} \quad (26)$$

where

$$E_0 = \|\varphi\|_{W_2^l(R_3)} + \|\varphi\|_{L_1(R_3)} + \|\psi\|_{L_2(R_3)} + \|\psi\|_{L_1(R_3)}$$

Using the Young inequality from (25), (26) we obtain that

$$z(t) \leq cE_0 + c(1+t)^{\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \cdot \int_0^t (1+t-\tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}} \times$$

$$\begin{aligned} & \times (1 + \tau)^{p\theta_0} z^p(\tau) d\tau + c(1 + t)^{\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \times \\ & \times \int_0^t (1 + t - \tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \cdot (1 + \tau)^{p\theta_1} z^p(\tau) d\tau, \end{aligned} \quad (27)$$

where $z(t) = \sum_{k=0}^3 \gamma_k(t)$,

$$\begin{aligned} \theta_0 &= \frac{\gamma_0^1 (l_1 l_2 + l_1 l_3 + l_2 l_3)}{4l_1 l_2 l_3} + \left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right) \sum_{j=1}^3 y_j = \\ &= \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3} + \frac{1}{2} \left(\frac{1}{2} - \frac{1}{p}\right) \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}, \\ \theta_1 &= \frac{\gamma_0^1 (l_1 l_2 + l_1 l_3 + l_2 l_3)}{4l_1 l_2 l_3} + \left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right) \sum_{j=1}^3 y_j = \\ &= \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3} + \left(1 - \frac{1}{p}\right) \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}. \end{aligned}$$

Let $E(t) = \sup_{0 \leq s \leq t} z(s)$, then from (27) it follows that

$$\begin{aligned} E(t) &\leq cE_0 + c \left[(1 + t)^{\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}} \cdot \int_0^t (1 + t - \tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}} \times \right. \\ &\quad \times (1 + \tau)^{-p\theta_0} d\tau + (1 + t)^{\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \\ &\quad \left. \int_0^t (1 + t - \tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \cdot (1 + \tau)^{-p\theta_1} d\tau \right] E^p(t). \end{aligned} \quad (28)$$

By the conditions (4), (5)

$$\begin{aligned} p\theta_0 &> 1, \quad p\theta_0 \geq \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}, \\ p\theta_1 &> 1, \quad p\theta_1 \geq \frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}. \end{aligned}$$

Therefore in base of Sigel's lemma (see [14]) the following inequality is true

$$(1 + t)^{\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}} \cdot \int_0^t (1 + t - \tau)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}} \cdot (1 + \tau)^{p\theta_0} d\tau \leq c, \quad (29)$$

$$(1 + t)^{\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \cdot \int_0^t (1 + t - \tau)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4l_1 l_2 l_3}\right)} \cdot (1 + \tau)^{p\theta_1} d\tau \leq c, \quad (30)$$

where $c > 0$ doesn't depend on $t > 0$ (see [14])

Taking into account (29), (30) from (28) we get

$$E(t) \leq cE_0 + c_1 E^p(t).$$

From here it follows that for sufficiently small E_0

$$E(t) \leq M, \quad t \geq 0, \quad (31)$$

where M is first root of the equation $c_1 x^p - x + cE_0 = 0$. From (23), (24) and (31) it follows that

$$\sum_{k=1}^3 \left\| D_{x_k}^{l_k} u(t, \cdot) \right\|_{L_2(R_3)} \leq c(1+t)^{-\left(\frac{1}{2} + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)}, \quad (32)$$

$$\|u(t, \cdot)\|_{L_2(R_3)} \leq c(1+t)^{-\frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}}. \quad (33)$$

By returning back to (18) and using the estimation (17) for the $\alpha = (0, 0, 0)$, $i = 1$ we obtain that

$$\begin{aligned} \|D_t u(t, \cdot)\|_{L_2(R_3)} &\leq c(1+t)^{-\left(1 + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} E_0 + \\ &+ c \int_0^t (1+t-\tau)^{-\left(1 + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)} \left[\|f(u)\|_{L_2(R_3)} + \|f(u)\|_{L_1(R_3)} \right]. \end{aligned} \quad (34)$$

By repeating the above mentioned procedure (18)-(34) we have the following estimation

$$\|D_t u(t, \cdot)\|_{L_2(R_3)} \leq c(1+t)^{-\left(1 + \frac{l_1 l_2 + l_1 l_3 + l_2 l_3}{4 l_1 l_2 l_3}\right)}.$$

Thus, for the sufficiently small E_0 we have the a' priori estimation

$$E(u, t) \leq c, \quad t > 0.$$

Therefore for the sufficiently small E_0 the Cauchy problem (1), (2) has a global weak solution.

Now, we reduce the result on nonexistence of global solutions to semi-linear hyperbolic equation with anisotropic elliptic part.

Suppose that

$$|f(u)| \geq c|u|^p, \quad u \in R, \quad (35)$$

where $c > 0$,

$$1 < p \leq 1 + \frac{2l_1 l_2 l_3}{l_1 l_2 + l_1 l_3 + l_2 l_3}. \quad (36)$$

Using the method of test function we prove the following theorem about the nonexistence of global solutions.

Theorem 4. *Suppose that condition (35), (36) are satisfied, $\varphi(x) \in L_{1,loc}(R_3)$, $\psi \in L_{1,loc}(R_3)$ and $\lim_{R \rightarrow \infty} \int_{|\xi| < R} (\varphi(x) + \psi(x)) dx \geq 0$,*

Then the Cauchy problem (1); (2) doesn't nontrivial weak solution, which defined in region $R_+ \times R_3$.

References

- [1] Li T. T., Zhou. Y. *Breakdown of solutions to $\square u + u_t = |u|^{1+\alpha}$* Diskrete Contin. Dyn. Syst. 1(1995) pp.503-520.
- [2]. Zhag Q. S. *A blow-up result for a nonlinear wave equation with damping.* The critical case C.R. Acad sei. Paris, Serie I, 333 (2001) pp.209-214.

[A.B.Aliev,F.V.Mamedov]

- [3]. Todorova G., Yordanov B. *Critical Exponent for a nonlinear wave equation with Damping*, Journal of Differential Equations 174, (2001) pp.464-489.
- [4] Ikehata B. R., Miataka Y., Nakatake Y. *Decay estimates of solutions of dissipative wave equations in R_N with lower power nonlinearities* // J. Math.Soc. Japan, vol. 56, No2 (2004), pp. 365-373.
- [5]. *By Takashi Nazarani, $L_p - L_q$ estimates for damped wave equations and their applications to semi-linear problem*, J. Math. Soc. Japan, vol.56, No2, 2004, pp.585-526.
- [6]. Matsumura A. *On the asymptotic behavior of solution of semi linear wave equation*, Publ. RiMS, Kyoto Univ. 12, (1976) pp.169-189.
- [7]. Nishihara K. *$L_p - L_q$ Estimates of solutions to the Damped wave Equation in 3-dimensional space and their application*, Math., Z., 244 (2003), pp.631-649.
- [8]. Nakao Hayashi, E. I. Kaikina, P. I. Naumkin. *Damped wave equation with a critical nonlinearity*. Transactions of the American Mathematical Society, V. 358, No3, pp. 1165-1185.
- [9]. Besov O. V., Ilyin V. P. and Nikolskji S. M. *Integral representations of functions, and embedding theorems*, Izdat. Nauka, Moscow, 1975.
- [10]. Mitidieri ., Pohozaev S. I. *A Priori Estimates and Blow-up of solutions to nonlinear Partial Differential Equations and Inequalities*, M.: Nauka Publ.- MAIK Nauka/ Interperiodika 2001, p.383 (proc. V. A. Steklov Insti. Vol. 234)
- [11]. Veron L., Pohozaev S. I. *Blow-up results for nonlinear hyperbolic inequalities* // Ann Scuola Norm. Super. Pisa. Cl. Sci., Ser 4, 2001, vol. 29, No2, pp. 393-420.
- [12]. Kreyn S. Q. *Liner differential equation in Banach spaces.*, M. Nauka 1967 (Russian)
- [13]. Aliev A. B. *Solvability "in large" of the Cauchy problem for quasilinear equations of hyperbolic type*, Dokl. Akad. Hauk, SSSR (2) (1978) pp.249-252.
- [14]. Seqal I. E. *Dispersion for non-linear realistic equation II* Ann Sci. Equal Norm. Sup. (4) 1, (1968) pp. 459-497.

Akbar B. Aliev

Azerbaijan Technical University.
25, H.Javid av., AZ1073, Baku, Azerbaijan
Tel.: (99412) 438 33 34 (off.)

Famil V. Mamedov

Institute of Mathematics and Mechanics of NAS of Azerbaijan.
9, F.Agayev str., AZ1141, Baku, Azerbaijan.
Tel.: (99412) 439 47 20 (off.)

Received July 17, 2007; Revised October 23, 2007;